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atruction Fos thg Qw“h} .
" Nox. 26 to 30
Bead the Fodiowein -
] Pasiag, | arefilly and answer the following questions that Telbe
& of them are of a serious nature

Wie in India bawve o
i Ty Speaial problems. No on@é can deny that sam "
abjectives have been define ¥

freadom to lead a life of his or
irrespiitnges

and st be atiy
W ap .i.;hd WIh vigour and determination. Our national
P &ML iy
TR BVRMY titizen with the basic necessities and complete
Fet oy Chiece, W Bl 1 reate o democratic soclety, strong and Tree in wihich every citidEn,

of his religrous beliety onoured place, and be given full and equal opportunities
inequalities of

Moupy an equal and h

— for growth and service We aim at ending untouchability and doling away with the by
-: status and wealth. We 4, opposed 1o the cancentration of wealth in a few hands.
. This passage could mos Probably be a part of -
- &l & Personal Letipy 3 bl A Speech
1€ The Indian Constitution {dl-A book on Political Science
7 The underline wiord in the Passage ‘vigour nw.m.i'-
i physical tenshon I%f'r;té
i forcefulness of language id)  loose temper
o8
What i the synonym of the phrasal verb ‘doing away with’ used in the passage?
W remain lorever (bl doing with
€ ereste '.. : [Muliih
2 According to the s
B author our natienal objective is o - s
) - *
W end economic prosperity in the country. (B} create unequal opportunities for all.
&) favour the concentration of weaith in :
a3 few|d) mote individual freedom and prosperi
perity.
o0 | V,pm [+ rity
¥ Pick out the wrong statement -
W Our goal is o bulld an Indi ;
. 4 . Indian free from (bl ~Some of our problems can be handied only by
N ECONOMIC gxploitation. strong people.
ﬁﬂumdmdhmnlihm ' :
yone else’s. id) 7
here Is no uncertainty about our national
E . objectives, '
Change the voice and select the correct passive Wdice from the ghvan options .
Someane gave her bull dog. T
14/ She has been given a bull dog. 3 :
Mhﬂﬂolw;h-mlu her, ‘M

ok

Il She is being given a bull dog by %% (UNShe was given a bul
% Choose the corract word which i opposi Meaning of the given word 2
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2 Fill i the blank with the appropriate word given below

| The Air India ... concessional tickets these days. r
:-.-h. (m igswed E}v/l'i IsLbng
] (s
i his ¢ el have sued ;.
e ctive M. Which of the following iy correctly punctusted?
o What a beautiful painting did you paint 11, .L L poiot -
us of (4) . 4What & beautiful painting! Did you paint it? (8] Whata beautilul painting: did ¥© paint it
(el What a beautiful painting did you paint it i) What a beautiful painting -did yoU ghven
B Choose the correct word which expresses the meaning of the underlined word of the sent
b oy -
Deepak has a penchant for fine poetry. >
Liking &) Bias
iel pesire W @) Training
L 5"

¥ Select the correct indirect speech of the gheen sentence -

I said to him, “Let us go out for a walk.” gl
(8] | toid him that they should go out for awalk. (8 | suggested him that they should go o4

walk.

fel Imuﬂlﬂhinmltwtmhdmnulhﬁ‘:l suggested to him that we should go out for @
walk. e walk.
37, Transtorm the following simple sentence into complex sentence -
He admitted his mistake. .
{8} He admitted to making a mistake. &+ He admitted that he had made a mistake, __
el He admitted that he was mistaken. Gy (@ He admitted that he was making s mistake. "a:*
of the phrase of the und _1_.._‘._“__. : ,

38 Choose the correct one which best expresses

' am like a cog in the wheel of this company. st S
an impociant person Bl  the least paid employes -
(@ an unimportant person k.
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> ho
"‘_.ﬂ"gmall'n' W developed the concept ©f
Transactional Anakygiy' 7

I_::' Jﬂ.'iEph Luft Ihr EFM’_ Berne

(€} Harrington Ingham (o) Mone of the above
42 which one-of the foligwing

. is not a psychological
barrier in coMMunication? sy

&) mmt-!.lrt‘ B} Inattention
evaluation

(€} Distrust intd) Baodily expressed
commumiCation Mmesssge

& fatb=7+ E.themheﬂ}u, of 3t + blis
(a) 1 ‘-.f,tr'*'b
c] 8 idy 2

44. |f in any code language, LC is written as 6 and TE
is written as 10, then what will be the code of PD

in the'same code language ?
3 (b) 7

icl 9 i) 12

45 A and B are brother and sister respectively. C is
father.of A, D is sister of C and E is mother of D,
thephow is B related to E?

_y’mm daughter b Great Grand
ghter
i€} Aunt ﬂygf;hter
4E. Which one of the following is NOT a component
of listening?
(8 Persuasion (k) ng
() Evaluating { sponding

47 & train of length 140 m is running at a speed of
60 km/hr and a cat is running in the same
direction parallel to the train at a speed of
18 km/hr. The train will :c;:rs),ﬂwt cat in -

13l 10 seconds 12 seconds
(€} 11 seconds {dj 12%5,_.‘-_“"“

6. Statement : College students should be
restricted from participating in

41

a2

43,

4l

45.

47

m BYJU'S

o fe e
e P R A T ®

faf T 7 o
(m) SHE TIE ::; ﬁ‘m 4 @ o A8
o) BfTEA 3O s
mﬁmﬂﬁﬂﬁﬁﬂﬂqﬁ 500
an T B7

b} ST
|H:"HWHFH:W<_ . & o
(c) wreme # sfrears (g wréfRe W

How

A a+ bS8+, o ol abE TSI
) 1 {o) O ;
ch 8 i) 2

o e FE A #, LC T 6 T TE &1 10
Pran @ & @ 96 ®18 W A PD W

F BT
(al 8 "

ich' g d) 12
A 7o B AT W iR 45w 1 C AW MUAL D,
caﬁﬂ#aﬂ?e,naﬁrﬁiﬂr,ma,sﬂﬁmm

wafe 87

(a) dieh (b) Wl

(e} =t (d} WY

Prefafaa § @ 19 wau o o TE Ee
(a) #1749 (o) HdEd

(c) sq=arE {d) witidFm o=

140 2w FEl WETE 60 A are 3 aE
# @ @ £ R vF fiesh o e | amd
# WaET 18 fEAL ave @ O | 2 W@
B o RA=h ® g we oft —

(a) 10 #dvz (b) 12 HdvE &
(c)
c) 11 ¥E | (d) ui‘ﬁ"‘_"i‘

T - FAW B wTEl 6 e a8
I 9 | wiefe fem e e

political activities. .
Argument : (1) Yes, college students should ﬁ![l]ﬂ.ﬂﬂﬁmﬂﬂﬁ‘im‘tmmwmﬂ
concentrate on studies, &1 A |
(W} Yes, colleges are becoming batrle () &1, Biera TTifae ot & fom =
: nd for political partjes. : By
Select the ma:r.r?merr— poupid e o W w ¥
(] Only argument 115 b} ﬂﬂrlvn:rlumnr Ilis (a) ;:; ?::: ; dad
() % || yad B
land il (di
s Neither tnor 11 i5 R LR eER (@ = i o ) iR A0
234 53107 . e @ v

Page baf 16— ————
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v siind and not blind s an exampie of -

() :]ualll.\ll'l-rrdalﬂ | &3] ':tl--ﬂlltl'l-'!tl'«'ﬂ dats

i) Both (a] and {b) ¥ None of these

gp  if both the square rool and the cube root of a

ghree digit natural number belongs to the set of
patural numbers, then the sum of its digits is -

ial 9 Eiauﬁ{}w;h number
enisty
(el 10 (d) 18
&1. Anuj is facing North-East. He turned 90° in the
dockwise direction, then 180° in the

anticlockwise and then another 90° in the same
direction. Which direction is hE.J_f.n:Ein_E now’?

(a) North — West (b Zouth — West

() North (@) South - East

@Wh-ch type of problem was used by Kohler in
problem solving?
{a) Verbal material (b) Detour problems
| \)P’/I/‘LIIIIE box id} None of these
, 53. salect the related number from the gwven
I alternatives -

4:17::7:7
(a) 48 {b) 51
9«{3 (d) a9

5. Arrange the following words in the meaningful

manner -

(2) Car L
{3) Cycle

{4) Bus

(b) 1,2,3,4
(d) 3,4,1,2

e
3,2,4,1

5. If a subject attempts 10 solve a problem on the

basis of his past experience, it is called -

EBYJU'S
45, AEI M1 M AR U FeTET g - ﬂﬂﬂ"
{m) TUTEHE TAHE b ?’aﬂ a it
() (a) ¥ (b} =T (d) %

P S L

5y e fEe 89 s aren mq-ﬁ"lm e #

g oA arFt # ot SEE "
med B, @ WEm F R & o

el
{a} 9 () EFT# -Q-’ﬁfﬂ-ﬁ .
Ry
{c) 10 id) 18 50° @
51. [ o1 19 ST - # 3R el faﬁ? e 9
Frant & ¥, 5% 180" aerered FETD or # Sl E
go* & fam # o) am e [0
g 87 G
(a) 3R — gftes b e~ p
(c) IR (o) T e

52, anﬂﬂmﬁﬁﬂw
FHET F WAt fEm j
(a) Infige by srweaE T :ﬁ"”“:
(c) wEe Fa Jﬂbﬁﬁﬁﬁ g

s3. fay My Pwel ¥ weRm @en P
BT -

4:17::7:7
(a) 48 (b} 51
ic) S0 (d) 49

54 Prefafua v o wdite oot w9 ®
arafier & -
(1) ¥
(2) T
(3) HTEfHE
(4) &4 .
(a 1,3,4,2 ) 1,2,3,4
(© 3,2,4,1 @3422
55. gy g wilen [Ed W W W
e @ SR W I BT e 4,

................. e o & g
O ayteaes  (Confimmtiontins o s TR ey
S alis (d) None of these (c) wrafres Rer (9 T W g gy

e S el T Wk

Page 7 of 16
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6. arange  the ‘“Hnw

communication py Oteys Ing

(1) Source “orrect LEUEN P

[2) Channel G

(3) Receiver " b

[4) Megyage Pl W “h

(%) Feadback A

(6} N

(@ g, L4

€ 1,234,568

5T I after selling 30 Peng
profit of sell price o

®lemipns ol

w‘.d ;_tht\

N 1L34 260

the seller observes the
10 Pens, then the profit

percentage s -
ia) 200% ®Ls0n, PR
i) iia‘ d) gg 67% .;I L y

S8 “m!ghllﬂ'_h. .?[““Mﬁn
shall bwon 117 March, 20117

(@) ) Sarurday

Mumhy 9 Tuesday
9. m communication network promotes an
individual t© communicate  confidential
information only with his immediate superior or

subordmate?
&) 1:|1-§IEI' - chain B) Wheel - chain
It} Gogmp - chain diSingle - chain
set of numbers from the alternatives
s similar to the sel (6, 36, 63) -
(B, 64, 45) b) (11,111, 84) )
ic) {7, 49, 98) j dl {94, 44.5) N
@ if the radius of a oylinder is increased by 25%,

day, then what day

60
wh

then much percent the heght must be
red s0 that the wvolume of the cylinder
?
58 ib) 3%
ie) g2~ id) 42
B2 Assertion (&) - Interpersonal attraction s a part
of soclal interaction.
R) - 1t is necessary for survival
(R) and (&) are (B} (A) is false but (R) i
true and () 1 true

50

58

59

61

m BYJU'S

—— L L GG U L
gy feray NG

(1) ¥ k4

(2) P

r“'JI'qFf-'”

() TrEN

() wftrgfee

le j1'|r'

) 4561213 b) 1,4,2,3,65
ic) 1,2, 34,56 (d) 1,3,4,2,6,5

.r!_:- i |-”-'|| il H'jl T & ’1"-['1 L !ﬂ '?""fl:'n
g fwn EN W HTY ETT £ e AT @ aiee

£

ia) 200% (b} 50%

ic) 33.33% d) 66.67%

afer 31 #WTE, 2008 @ wewme B oM 31 94 2011
F1 wr fE| fon?

{a) wfrare (b) mfam

(c) TERiAR {d) HITAAT

g A B W wuw e ol w oaee R

e AOET e ave s afoerh @
Mo e B 3 avon dew &7

(a) ¥HE — Sareln (b) a9 — saa

(c) TG — AR Id) T&@ — s
frmedl 4 9 ! & wyem ® gfw o age
(6, 36, 63) & FAET # -

(2} (8, B4, 46) () (11, 111, B4)

(c) (7, 49, 98) (d) (94, 44, 5)

afe ¥e= @ Brm 4 25% o ofy o & I
m dard &1 o gftm germ o fred
& argae agRafi w@?

(a) 58 (b 36

(€) 62 (d) 42

sftrem (A) - sofufios sk i
sefifan & ow W @)

WY (R) - ar IrRohfam dn smrvas #)

(@) (r) afre (a) =i
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B3 find the correct alternative for the missing
tErm -

ABC, 6, EFG, 210, UK, ¥

(a) 1000 (&) 099

el 190 maﬂgﬂ

which one of the following is not_a type of
informal communication nﬂwurh'—r"m

(@) Cluster (B Gossip

e)tircular () Probabllity

Anpop and Sunil are ranked seventh and eleventh
respectively from the top in the class of 31
students, What will be their respective ranks
from the bottom in the class?
(8} 26%and 227 (b} 24 and 20"
() 20™ and 23"

64

{66, 'Thic is a number series given below What will be

2 the next number in the series?

10,58, 17, 24, ... o
(&l 31 P g
() 37 (d) 35

7. For one possible solution after another is tried

BB HCF of two numbers is

until a successful one is found, is called -

(al Insight (b} Guess
Mand Error (d) None of these

25 and other factors of

their LCM are 14 and 15. Sum of the numbers is -
{a) 700 ib) 775
v(tf;.v.s {d) 750

€9. Which one of the following methods of problems

70. who has said,

.

T2

solving gives guarantee of success:
(8} Heuristics method nning method
ic) Backward method  [d) Algorithms method

‘Decision  making  involves

evaluating alternatives and making choices
among them."?
(a) Rathus (b} Baron
(c) Matlin {d] Santrock
If E = 5, AMENDMENT = 88, then SECRETARY is
equal to -
ia) 1 b) 112
14 id) 100
Paralanguage is related 1o -
(a8} Verbal (B} Interpersonal skills
communication
€} Downward (d-Non-verbal

B3

1
b6

rapaTl

&

O
P

Hﬂ.

0l

T,

712,

Ll | ee—
B4 L+ EBYJU'S

qet T8 W fem wlfy faaren =l AT

ABC, 6, EFG, 210, 1K, ?

(a] 1000

{c] 194

frafafem @ 3 # & oF goyrel!

A AEdh T TR T BY

() T o) =y

{e) WHEY (W) (d] EvrEe

g W & A1 DT H s N T

e & A TR sy e B

A FF] IHI TR e A

@ 26 e 220 (o) gq i 3R 20 .

(o] 999
(dy 990

et

1
::=|:’|T'4‘5'5"IJTI

il
i©) 254 3w 219 () 20 AT ﬂw T
&y s gEen B wd ) gam IO

HI EFI?

1,0,5,8,17,28, ...

(a) 31 b) 33

(] 37 4} 35
qﬁﬂnﬂmwmﬁﬁfaqﬂﬁﬂ‘li'i“ﬁ
(a) FES (b} aFpHIT

(o) v T 2 () 7 & B T

. 2t W@l @1 HCE 25 & e 96 LCM B 3

UETS 14 3% 18 #| e 1 A & —
{a) 700 by 775

v [fer W o 6 ey 3 87

(@) v T fafer (b airaaen A

{e) gt FAR i) rentiem

fe @e, Frofm amen e & geEA
o S Y e & BT

{a) eI (b} &=

(&) #eform (d) Hvgtw

af? £ =5, AMENDMENT = 89 1, &l SECRETARY
TR & - .

(a) 115 112

(€) 114 ‘

R (et Wk & —

() anferes i a
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73, Given below are py,,
as assertion “H and g

Assertion [A) - Oral ther jg reason (R) -
“OMMmunication is a useful

of Communication.

al communication has no
has been communicated.
Wer using the code given

Stalements, one is labelied

an

ll‘ﬂﬂ"ﬁlnj i Bl‘.‘ﬂu;E o

Proof wha

Select the cormect an,
below -

(@ A} is false bur

(R)is by .
true Both (A} and (R) are

L~"true but (R) is not
correct explanation
of ()

(€} (A} s true but (R)is (o) Both (A] and (R) are

false true and (R} is
correct explanation
f of ()
4/ Which problem task is not used in animal subjects
amaong folliowing ®
(@) Double alternation  b) Puzzie box
prablem

ich Dﬂwrpruhbl'm f%hésrims

73

] }'“F‘ |.q I-II -!T-"] 4] 'r:I. '\-I'"I .:l!-r-“lf.'r'm *Ai
wreor (R) SET I ¥ —
diftas wER TP Fuarft FEN

4 =
afry gal ®
wifirr (A \
w1 Amad B
ity sfars waR ¥ T FE T
& e umm AR EA
g g 0 @ A wf g g - o
{a} (A) AT ¢ =1 (R) D) (A) a7 (R) B
e & T (R), (A)
wc B e & R (0.0
T B

aeg & fee (R) () (A) 3R (R) STl
) wea & 3 (R), (A)
E
Priifer 3 | T W1 AR S T E
& fro aqam TE fem @ 8
(a) g?fl FHTT ib) T e
AR
(c) aWEOEl Oy WA (d) TATaT
FiaE oA, we el ® FNm I

w17 (R)

ich {A)
ad

73 Imternal conflict that occurs, when people receive 7>
mformation incompatible with their value system A & o el = @ e g oam
is known as -
(2} Political Dissonance () Cognitive € ¥ B &, 5 W w9 A W w8
Dissonance {a) s faemiy (o) HsTeE faie
ic izl Dissonance  (d) Environmental !
R e () wrfe et (d) gl e
78 If two dogs start running in opposite directions 76 IfX T T TH 7H. =W TR FIER W W
on a-nn:marpa'mddviaml!t!r?mvﬁth the speed Rofa fawmst 4 2581/ ddve oF 3§ s
I.EMIIELiMENSEL,PHﬂhWhnEW|!Ithw & a4 FEa N TG & W wgs 3
ukemhtmmﬂmum:%? T g e 4 o feee |wn s
(@) 1 sacond 4 second (a) 1 Fgog ) 4 Fzve .
~ 16! 2 second (9} 3 second le) 2 da (d) 3 Ygvs
@Imremhhﬂdﬂﬂ' . HITHIo® o smnfim & -
(8) Specific to generi! 1) General to specific @ Rfre % wmr ®) T @ R
principle principle fgta o firgm w
(6 Both type principles () None of these ‘“'Tmﬁmmﬁ#ﬂﬂm
TB. Fi the following - 8. . : ,
z’l, ;ﬁ, f g’ g e 12,18,14,2, L 'i"f"::: R W s i
! olon B 8,1 i
e 5 A o
(&)
ot e @ 9 a ®) 15

L ——

’M 153102

T ———

i)
W-"ﬁ'———-l'!_

i g

LT
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M The wemi dismeters of bases of two oylinders A
and A are in the relio 3.2 snd thesr heights are in
the ratio A 1 1 wolome of cylinder A is 3 times of
wokamg o cylinder B, then value of n i -

tl'l__j (b !
| a2

o ! fdy A

' n

puncticnal Foedness produces . p— |

problem solving process,

s Mo effect B Paryal facili ation
Y0 Blocking LB Facilivation

C-,/ one of the following is not used by the
people a5 8 method of problem solving?
() Trial and Error B) Meuristics
ig-Functional Fixedness (9] Algorithms

] relation thal is there between 6 and 16,

remains the same between 12and ...
) 23 A 34
fch 42 \ 29

B shyam is friend of Ram. Pointing to Manish,
Shyam Ram, who is he? Ram said, "His son
it n's uncle”, Manish s r 1o Ram as -

thet

c) Grandlather ather-in-law

Three numbers are in the ratio of 3:4:5 and their
HCF and LCM are 40 and 2400, respectively, then
the largest number is -
{8} 360 (b} 240
(d] 40

B Refer o the statements given below -

m

EBYJU'S
g ® b
3:2
ﬂtﬂﬁ-“lllﬂm*":':ﬂmﬂﬂ
oy @ B o gt k) 0L g W
gy oft &wa A s, et B
!l‘EITF‘.I -!'l'anF'II'I"I'ﬂITI—

im) A ity ¥
] 2

i 2

o

{e 2

] e
W;ﬂmmﬂ‘mmmﬂ'ﬂ!'

avr= wl ok
by et O

1) i wwrn ot

(o) idy FrETI
mﬂﬂhiﬂm“mﬂ”ﬁmﬂfﬁ: :
& wn A A G T A ) WD 3
() wore ga g iy yer T

(c) wovieem farem (g et 4

of W 67 168§, wh wa 12T

. nE

ia) 23 B 34

ic] 42 % 29 :
v W 1 v 81 e oy e o S0 SX |
yam A T & o1 fs a &7 T T
T A W W ey g W T 1_
g7

(a) g o) Fepemt

() =T mw# -

A wem T S 3:.4:5 § 78 T HCF
meuafnumti#ﬁwﬂ_ o

wom # - P ’
(a) 360 20 i
() 200 40 Ay il
o= wuAt @ e & - Ve

| wf wreEe e #)

Il w5E aes f)
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! siog b #0 man M 20 dayx and aftey 50 F . & aifafam s A A 10 T @ am
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Given below are two statements, one s labelled

a4 assertion (A) and other as reason (R)

Aszerthon [A) = Clarity of communication is

esvential for effective
communcAtion process.

Reason (R) - Because adequacy and timing is not
essential for effective
commuynicathh process
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